
    WORKSHEET -  2 (BRAIN TEASERS) 
Q1.  Guess the mystery number  

1.  It is less than 1000 

2.  Its tens digit is 2 

3.  Its hundreds digit  is 4 more than tens digit 

4.  The sum of its digit is 

 

                                                                              

 

Q2.  Draw the chocolate bar so that one part has two more pieces than the other. 

 

 

 

 

 

Q3.  These squares have been cut out from a hundreds chart fill in the empty squares. 
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Q4.  Use only six  seeds of any pulse for the following activity 

a) Six seeds have been placed here in such a way that rectangle has 3 seeds and the 
triangle has 5 

b) Now rearrange the 6 Rajma seeds in such a manner that there are 5 seeds in the  
rectangle and in the triangle 
                                    
                                                                                                                                                    
 
 
 
 
 
 

 

 24 

17  

 

Downloaded  from  www.studiestoday.com

Downloaded  from  www.studiestoday.com




